Warm Up

1. During a recent home renovation Abby finds an old financial statement that
belonged to her grandfather. The document has faded and some of the dates are
difficult to read. She can see that her grandfather deposited $10000 on June 30,
1944. The balance of the investment at the time of this statement is $107651.63,
however, the date has been smudged out. If this money was invested at 8%/a and
compounded quarterly, what must have been the date on this statement?
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2. "Lenny the loan shark" gives out a $500 loan to a client. Lenny lends the money
at 32%/a simple interest, and demands that he is repaid in 30 days...OR ELSE!!!
How much must be paid to "Lenny the loan shark" 30 days later?
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Series

Summation Notation:
The capital Greek letter sigma Z 1s used to provide a shorthand

notation for a summation.

In summation notation, the sum of the terms of the sequence {a |,a, a; _ a,}
Fl

is denoted —
lak = ta ta, g t--—ta
which is read "the sum of a, from k=1 to »n"

n

Sigma notation is actually more widely used than the above definition suggests.

See if you can evaluate each of the following summations:
k= =L
s ) 32

D3k =3+6 +q+)2t/s
=1



Arithmetic Series:
o The summation of the terms of an arithmetic sequence

Let's derive this formula that can be used to determine the
sum of "n" terms in any arithmetic series... ;\..-l-q.,o\:

S_a+(a+d +a+2d)+(a+3d)+ . +|at+ (n=2)d ]+ [a+(n—1)d]
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Example:

Evaluate the following summation:

—24+7+16+25+34+.. . +1420 =

Sn"" Di [z\'\'(h—\\o\x {-n= ad( h-—b&
J420=—2+(h—)

= ;(—'15"-(/58 /Cfx { FLo==2+ In~9
= ) ) )43/ = CIV)

=\(Q 73] n=/59

Example:
A corner section of a stadium has 8 seats along the front row. Each

successive row has two more seats than the row preceding it. If the
top row has 24 seats, how many seats are in the entire section?
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To repay the bank for a loa a customer agrees to increase each payment
by $11.50. If the first payment is $32.50, how much is the ninth payment?

The population of the earth in 1975 was 3.9 billion. If the population
increased by 203 000 each day, what was the population one year later?

A jogger running along a course with a slight uphill grade covers 350 m in
the first minute, but due to fatigue covers 25 m less in each succeeding
minute. What distance is covered in the eighth minute?

Refer to your Problem Solving Plan to help organize your solution. #>SS2

A car purchased for $6000 depreciated $2000 the first year and $500 each
of the following years. After how many years was the car worth $1500?

An environmental officer has a starting salary of $18 500. Each year the
officer is guaranteed a minimum raise of $1500. What will the minimum
salary be in twelve years?

A stunt driver drives a car over a cliff into the sea. The car falls 49 m in
the first second, 14.7 m in the next second, 24.5 m in the third second, etc.
(a) How far does the car fall in the fifth second?

(b) How much further does it fall in the sixth second?

Elaine bought a Barnowsky painting for $1800. After seven years the artist
became world famous, and her painting sold for $14 000. Determine the
annual amount of appreciation if the painting appreciates arithmetically.

When you apply the brakes steadily in stopping a vehicle, your speeds at
the end of each second are often the terms of an arithmetic sequence.
Jennete’s speed was 110 km/h, when she applied the brakes. Her speed
decreased by 12.5 km/h each second.

(a) What was her speed after 5 s? (b) How long did it take her to stop?

At the end of its fourth year a high school had 1334 students. At the end
of the thirteenth year the school had 2036 students. The increases each
year were arithmetic.

(2) Find the number of students in the school during the first year.

(b) Find the increase in student population each year.
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FUNCTIONS AND RELATIONS 111
SEQUENCES: APPLICATIONS

(O]

A company increases sales by 15%/a. Initial sales amount to $2 300 000.
The amounts below are in millions of dollars. What does each represent?

(a) $2.3(1.15)% (b) $2.3(1.15)°

An oE.mnH is ansn from a height of 200 m. It bounces back to a position
0.6 of its previous height. Write an expression to show how high the ball is after

(a) 3 bounces. (b) k bounces.

To solve the following problems, you need to use your skills with
sequences. Review them before solving the problems.

Ina ,8:2.: bacterial strain, the number of bacteria doubles every half-second.
Starting with one of them, how many bacteria would there be after 6 s?

A company had sales increase by 109/ over a four-year period. If there
were a million dollars in sales one year, how many were there four years later?

A pool table cost $620, It depreciated by 129¢/a. How much was it worth
alter five years?

A tennis club wants to increase it membership by 20%/a. If 400 people
belong to the club now, what will be the membership after six years? .

A town becomes a city and in its third year has a population of 220 000.
Three years later the population has risen to 292 820. If the population
can be represented by a geometric sequence, find the city’s population
after ten years.
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